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1 Introduction to management accounting.

learning objectives::dcailail! IRV
1. Distinguish management accounting from financial accounting.
AW Al e 2,01 Al s
2. Classify costs and prepare an income statement for a service company
Lo AS,h (3 U0 A8 sluely B JISE Caiias
3. Classify costs and prepare an income statement for a merchandising company
Ayl=s 38,4 G U2 dald slaely S adas
4. Classify costs and prepare an income statement and statement of cost of goods manufactured for a
manufacturing company.
Aelis 38,40 Zaiall 2ol ) 4alKs 2a5l8y (5o Aasld sluc)y ca ISl Cayiias
You get a 40% discount on your new MP3 player, and you are relaxing after a day of listening to good
tunes. As you sit there, you wonder how Greg's Groovy Tunes, Inc., was able to sell the mp3 player at such
a low price. Management accounting information helped Greg's Groovy Tunes design the player to
maximize performance while holding down costs. Managing costs helps a company sell the right product
for the right price.
cdelud Aleazdl pLaiW g laial (po pgs doay s slusl O dag MP3 syu ziih e %40 g e cilias>
il yaudl 1da diey MP3 a5 o daiuall 45,400 (Sl i
IS (a sy elo¥ woss dasyday il euesad Gle daiiall A4S, A A0 dwlell laglas caelu
meall yaadly movall gl a (e 38,801 IS 8] delud
The first learning objective is to distinguish management accounting from financial accounting.
LW Bsaloell e BloY) Bsaloell s g Jo¥ erlasd| ool
Management accountability is the manager’s responsibility to the various stakeholders of the company.
Many different stakeholders have an interest in an organization as shown below.
liall Clmaal o sptall SLALI B calisll Pliall calmaal slas ekl Zlssane o2 laY) lsiall
YRy, zelo 5o LS dalaill § dxbian o (raluzll
4,15¥1 4t 93wliManagement Accountability

Government Owners Creditors
EPeS I el

l

Suppliers Managers <«—— Customers
Q._!.))}U 9‘).\1‘ (+Deall) ujl;).ﬂ
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Management’s Accountability to Stakeholders

Pl olxsol slas &ylay! ad ggud|

Stakeholders Provide Management is accountable for:
dlall Glasol Og0ddy 1 U9 8ylaY
Operating activities Al sl dassy

Suppliers Products & services Using the goods & services to earn a profit

R Slousdly ol e s sleasdly debadl ausenus

Employees Time & expertise Providing a safe and productive work environment
ralasll spslly sl Axtiog Lol Joo Ay a3

Customers Cash Providing products & services at a reasonable price
By Baad) Jsdre yauy Sleaslly oleuldl @uds

Investing activities ;e daii¥

Suppliers Long-term assets Purchasing the most productive assets
skl JaY! sk Jouol Lo L) ASY Jgua¥l ¢l
Financing activities abigodd! PSRN

Owners Cash or other assets Providing a return on the owners’ investment
Creditors Cash Repaying principal and interest

Oua,all

Lol

sslally oyl Jol slas

Actions that affect society

peimll e i Jlai

Governments

Permission to operate

Obeying laws and paying taxes

oSl Jueaddll ey Al il all adog lsally alAY!
Communities Human and physical | Providing jobs and operating in an ethical manner to support
resources the community

o=l

tgj;l\ {o.c..\.‘ éM}i Holuw Juaddly casllsg (o aT

This table shows the links between management and the various stakeholders of a company. The table is

organized by the three main categories of cash-flow activities: operating, investing, and financing. For

each activity, the stakeholders are listed and what they provide to the organization. The far-right column

then shows how managers are accountable to the stakeholders.

bl I (e elaid Joad! 1da 4S540l cnalizll Plall Glesly 31591 cns A8l Jouzdl i 1lad
Dlall Glesl 71 @3 blad JSI abgarlly (i ledladd) cali il :apaadl 3805 dadd¥ el 2wl
Blhall Glassl olas el pily a8 el (adly sgaall ylad Aaaiell Ogeudy 13Le
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The table concludes with a section that is not on the Statement of Cash Flows — society. Companies also
have a responsibility to the government and community.
Ao sl olas A g5uun L S, al) aanzll -4puaddl cladull Aasls (rass (it 929 @iy Jgazdl @iis|
=l
To earn the stakeholders’ trust, managers provide information about their decisions and the results of
those decisions. Thus, management accountability requires two forms of accounting:
« Financial accounting for external reporting
* Management (or managerial) accounting for internal planning and control
obd Jldly hl,all sda mlig mebl8 oo Slaslas lsaasy o chall e L8 Wlall olrial 445 us]
Aptulall laglall oo aCa callazs sl A 95ue
(gl el ool oY Al Lwles @
Ads Gl bdaseall (alel Jo¥ idls) Lwlee  ®
Financial accounting provides financial statements that report results of operations, financial position,
and cash flows both to managers and to external stakeholders: owners, creditors, suppliers, customers,
the government, and society.
il 3aadly (JUI auosll (e 2lia bl 5o (e mldl pasls @l AW Laslsd auas AU dpwlxl
sl ZasSaal) 1l L uoll oyl AU Jta eyl luall oSy shyeald Ly
Financial accounting satisfies management’s accountability to:
ol 8y)0Y1 & g5 AW Akl (0,5
« owners and creditors for their investment decisions
ALYl @yl 18 3l (s yally <UL @
« regulatory agencies, such as the Securities & Exchange Commission, the Federal Trade Commission, and
the Internal Revenue Service
Al J5all Beus il Blall Zind (um pully 2L S B e Apaidazsl] NN @
« customers and society to ensure that the company acts responsibly
Al 95uny Byats AS,a01 OF Olesad per=lly il @
Management accounting, on the other hand, provides information to help managers plan and control
operations as they lead the business. This includes managing the company’s plant, equipment, and
human resources.
et a1 Al adll Leldes 2855 Jagdazes (e elull Saelud ciloglas AL Azl § &ylaY! dloell o053
Ayddl sylelly wlaall (38, 401 aiias Byls| sty Idag 48,401 8510 L.
Management accounting often requires forward-looking information because of the futuristic nature of

business decisions.
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Financial Accounting:
S bl
P  Forexternal reporting
ESIEIBY IS B ¢
P Provides financial statements for external stakeholders
on il Dlall Gleed 2l wlsall s0a8 P
P Satisfies management’s accountability to
oles 310 Ao s P
°  Owners & creditors
s ally L o
° Regulatory agencies
agdaia]) oSl ©
©  Customers & society
peizlly sl o
Managerial Accounting:
4yl Awl=ll
P Forinternal planning and control
FWES (RN (PR NS PN 2
P Provides information to help managers as they lead the business
Jlee! e 8yla) @ shhall suclud cloglas plas P
°  Plant & equipment
Slaally aigall o
°  Human resources
Lyl sylell o
4 Forward-looking
Alatae sylas P
Stop and Think:
You speak differently when you are speaking to your friends than you are speaking to your boss or

parents. This is the gist of managerial and financial accounting- the accounting data is formatted

differently so that it "speaks"” to the correct audience (stakeholders)
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Managers are responsible to external stakeholders, so they must plan and control operations carefully.
oy Ala ) Slibeall lpuls Iohabies o pple 08 1y wommbill glall cilmaol alaf 3)5e sl
® Planning means choosing goals and deciding how to achieve them. For example, a common goal
is to increase operating income (profits). To achieve this goal, managers may raise selling prices
or advertise more in the hope of increasing sales. The budget is a mathematical expression of the
plan that managers use to coordinate the business's activities. The budget shows the expected
financial impact of decisions and helps identify the resources needed to achieve goals.
5oL g pladl Bl L8 JUieS aidudzt 44808 e 51,8 Slaily Cdlua¥l Lasl any Lagdazall @
ol e ST ISy Y of el e 8305 ehyall agdy b bl i Gudma) Adaadl 7)Y
O Geadd) @i e lyall Lsasetug Al dasdl (e byl jaaddl (2 455lell aland) ez 3aL;
Lol zLaoY iy A1 aliall caspany aeluds ol ald adgall QW ,alal a5l ylad sLadll alasdl
R RV WP
® Controlling means implementing the plans and evaluating operations by comparing actual
results to the budget. For example, managers can compare actual costs to budgeted costs to
evaluate their performance. If actual costs fall below budgeted costs, that is usually good news.
But if actual costs exceed the budget, managers may need to make changes. Cost data help
managers make these types of decisions.
oS (JLieS aalasll Audasll @) &lae; 2l ad)! oldeall qudsy bl Gobs 415,01 a3 @
J81 dulaall Ca S ol 18] gl euad) dlalasell oIS ae dulaall a1 153lay o ol yueld
elyudl L8 alalasell Ca IS Alaall Ca IS o olaes 13] Lol wBungm 5Lt Lasls sigd alabazll oy
bl e bles¥l adas Jier plall shall adSall bl delad .cluan lyegad Aol
Exhibit below highlights the differences between management accounting and financial accounting. Both
management accounting and financial accounting use the accrual basis of accounting. But management
accounting is not required to meet external reporting requirements, such as generally accepted
accounting principles. Therefore, managers have more Ieeway in preparing management accounting
reports.
Cniaoloel | MS e w3 AW A aloelly 2lo¥ dloell (o Lo e ¢ guall QLI Joazll al
Aylan Lo opllas (uad 2l Al (ST Aalxll (@ Blamiad) (olad 4la¥ Acalxlly AU 2ul=l
slaels 38 Lol s hudl gt (e 10Say Loges gall A ulell g3l d€ ol ladll cldlaze
Al Acwl=ll o)las
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Exhibit 1: Management Accounting Versus Financial Accounting

Management Accounting

Financial Accounting

1. Primary users

Internal — the company’s managers

External — investors and creditors

2. Purposes of information

Help managers plan and control

operations

Help with investment and credit

decisions

3. Focus and time dimension

Relevance of information; focus on the

future

Relevance and reliability of information;

focus on the past

4. Type of report

Internal reports

No audit needed

Financial statements prescribed by GAAP

Audit by CPAs

5. Scope of information

Detailed reports on a weekly or daily

Summarized reports quarterly and/or

basis annually
6. Behavioral Concern about how reports affect | Concern about adequate disclosure
employee behavior
AU dewleel) Jolae oyl dwl=l
AU Aaolel] 4, 15Y) Zealal
Slal Wl cGgladl (o9 yeiiwdl -Cum L a8 ) elyie ol Ogdo¥! Ogatieiudl 1
A oS |
a8 3kl e ouisladly copeiiad!) el | cldaall 19819 lslalase of ehaldl welud Slaglall Caa 2
021,89 sLedil] Al aal
sl e 5555 ABgtsas Ladle | Ajlge Mied Judrwdl e 3559 Aadho @l daddly 35003
2011, dic ys,atll @2y 2010 ale ¢l 2010 play Laslac| @z 2011 Sloglaall
EW[PIRAPY- Ads s ylas soadll blal 4
g Loger Uguall tulell toaldly 5o Aaaill /28I Juloeny Ladd uude
CPA oyl il prlyo Uid (oo Linz s Sl Tan L 5,550 Y
JSS 48, Al (e Jol S Byaizes plas | wlazull) sLAAL el (e Aiinds plas Sleglall Jlxs .5
Ssiw ol ad elued e WLe | e Tle (Gblall /odla¥ calwd¥ly
(Forl [ pse ulud
A LS, g | ondlosll gl e lasll il 2,4, g 2SsLudl 551 6
A3l A8l cliaasll was

Managers tailor their management accounting system to help them make wise decisions. Managers

weigh the benefits of the system (better information leads to higher profits) against the costs to develop

and run the system. Weighing the costs against benefits is called cost/benefit analysis. To remain in

service, a management accounting system'’s benefits must exceed its costs.
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e Aol IS Hlaed! Geay G5 ae Budy alylyd 3l e@aelad BlaY! Al allas el Cais
el Juias
i3y peasad e A0 e ISEN Llas (el 7 Lg¥ 5945 839 HAST cilaglas) alladl adlis elyull O3
Al /A Sl a8Lll blae a8 (39 (£o8 A1o¥! Awl=ll allas yighaty
o ysglaty dladd de LA oIS (e el dadlin 0985 0 ey Zonselly 4yl0¥! Al allas i
Management accounting provides more detailed and timely information than does financial accounting.
On a day-to-day basis, managers identify ways to cut costs, set prices, and evaluate employee
performance. While detailed information is important to managers, summary information is more

valuable to external users of financial data.
ps2 diiadl Golaols AJUI Blelly 35290 58 Los AST Aslio Sloglang 48T Jusolas 4yloY) &bl pusd
onabasll el @iy «slawd sy (IS (agass Gyl e Ogdyany el L8 age
Oy ) e deiuceld ST 2aud @l Aaiselall Sloglall olé celyueld Asls Adimatll culaglall (3985 Loy
AW bl
Management accounting reports affect people’s behavior. Accountability is created through measuring
results. Therefore, employees try to perform well on the parts of their jobs that the accounting system
measures. For example, if a manufacturing company evaluates a plant manager based only on costs, the
manager may use cheaper materials or hire less experienced workers. These actions will cut costs, but
they can hurt profits if product quality drops and sales fall as a result. Therefore, managers must consider
how their decisions will motivate company employees and if that motivation will achieve the overall

results the company desires.

e slig . oleall il IS e Awlell &gl Lads . (ol d ¥l Sldyuat e &)oY bl o)las 55
Sl 13) JlieS e Sy gkl plladl Lay (&1 aasllsg el o5y oF Osdglxy onabosll olé (U3
Jles Gsalbgg (asl slge Ggadieiay 18 clull ¢Waa Gl6  laas Ca I e 2Ly puall elhyue @uds slaadl
Slaed) cunazily mull 839> comasil 13) el 9355 ub LS 2alKall (aasd ud Jlast sia 3ps Ja
sl 1 oIS 13] Lesdy 45,201 (Al wihlyd sand S 19S50 of shadl e ol 1Sy Ui Az,
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State if the following statements are True (T), False (F). Write ONE letter.
Managerial accounting’s focus is to provide information for internal planning and control (T)
Al sl bdasdl Jo¥ iloglas @uds (e 2lo) ul=ll 38,5
Management accounting often requires forward-looking data because of the futuristic nature of many
business decisions. (T)
Al ad) ollal e dgaall Adatall el g AdiEtae Slily 4,l0Y Acul=ll Cdlas
Choose the correct answer for each of the following MCQs
Which of the following types of accounting is designed to meet the needs of decision-makers inside a
company?

ASpadl dsls llyal siste alelas! 2Ll caml Laalell o 21 bLa¥ (e

ErS

A) Financial accounting B) Tax accounting C) Management accounting (\/) D) Auditing

Aas Ll

Which of the following statements is incorrect?
S e e Al alladl e [57
A) Management uses accounting information to determine the cost of products and services.
leasdly clenll 415 wyased] Lwlell Sloglas 8)l0%) ausezud
B) Management uses accounting information to plan and control business operations.
Ada il aldeadl g balased] Lwlell Giloglas 3)15%1 auseiud
C) Management uses accounting information to report the company's financial position and results of
operations to external parties.
Lzl BLL Jsadl) miling sladeld JW S0 e il Bl ciloglas 8yl0% oot
D) Financial accounting is more relevant to use for internal decision making purposes than is
management accounting (\/)

Alo¥ Awl=ll e Aol clhall Sl (a1,eY alasidl Zeedle AST (2 AU Awlxl
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2. classify costs and prepare an income statement for a service company.
Al ASyd § ) Al sluely IS cuges
Service companies, such as cell phone service providers and banks, sell services. As with other types of
businesses, service companies seek to provide services with the following three characteristics:
* High quality
* Reasonable prices
« Timely delivery
Jie Llie cleasdl ol aud Adpall Sloasdly (gdsdl c¥laiy cloas pude Jio loasd) K, 4
el IS milad cJgidin yru Adle Baga ilglivolge (58T wilons uuan) Jlee¥ Llal 3L
Service companies have the simplest accounting, since they carry no inventories of products for sale. All
of their costs are period costs, those costs that are incurred and expensed in the same accounting period.
JS JWdly aedd deliay (9550 Lead umge ¥ Gl cos gl B wles ailelya] cloasd) o, s ellaes
Nenss Rytalall 5701 & Cinlme 1) Jyoeiis Llaons oy aJISE siia (56 4SS (2 LAl

Income Statement
Year Ended December 31, 2010

Revenue:
Sleasdl wlsly) Service revenue
_é_p\_‘al\ - Expenses:
lgdl 89pme Salary expense
Sl B9pma Rent expense
plazial gyas Utilities expense
IMia¥! (b gpmso Depreciation expense
suslall 89 yma Interest expense
Sleiud | 8 9pm0 Supplies expense
_AJQL‘A_U QLw.l Total expenses
ERLY QL;A Net Income

Service companies have no inventory, so a company’s income statement has no Cost of goods sold. The
largest expense is often for the salaries of personnel who work for the company. Service companies need
to know which services are most profitable, and that means evaluating both revenues and costs. Knowing
the cost per service helps managers to set the price of each and then to calculate operating income.

S g puall Aeld) deladl 44k feans ¥ Llss 2a5l8 ol JWlbs (0935 (6T dpensedl i€, adl cllias
iy dymy ASY) (2 Sles (ol Adyal Lansdl WS, Al 7 lizes A4S, 401 (8 Oslamy Gl (nalssdl cuslg) ga
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Unit cost per service= Total service costs + Total number of services provided
Rotall loltidd] ol suie + Aaaall Zessell 20 Lol =Hosid] o Buslall Busgll 44K
Martin and Reynolds provides hair cutting services in the local community. In January, the business
incurred the following operating costs to cut the hair of 220 clients:
a8, & paasMartin & Reynolds &S, 4l e goeiwl (G 0glS & . el paizll § 2 ddl a8 Sleus
Juee 220 ya i eal AW adasd ca JIS)

sl Slosliue 8 9pmno Hair supplies expense $700
Sl sl B9pme Building rent expense 1400
plasiwl caylas Utilities 100
Slaall SIMlal Depreciation on equipment 60

Martin and Reynolds earned $4900 in revenues from haircuts for the month of January.
S 0538 el 6 yaddl Gad e clalnl $4900 38,41 S
Requirements:
1. What is the net operating income for the month?
2. What is the cost of one haircur?
il o uiadll J5 ol Blo i oS 1 cigllal
$oumlgll padll LalS5 AL oS 2

saddl yad e ol Revenue from haircuts $4900
saddl Sleoplive d9ime Hair supplies expense 700

Sl sl B 9pme Building rent expense 1400

‘a\..\_'zz.uh’\ B9 y4an Utilities 100

Slasll IMzal Depreciation on equipment 60

Al sd Ganylball Jles] Total operating expenses (2260)

D e P gexp
ng_&.ﬁl JsuJl QLA Net operating income $2640

2. The cost of one haircutin January is: 2260 + 220=10.27
10.27 =220 + 2260 =Wl 0558 b S Smlgll Lmsll 22K
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3. Classify costs and prepare an income statement for a merchandising company.
Agylems 4S54 § Jo ol Aasld slue)y LIS Coges
Merchandising companies resell products they buy from suppliers. Merchandisers keep an inventory of
products, and managers are accountable for the purchasing, storage, and sale of the products. In contrast
with service companies, merchandisers” income statements report Cost of goods sold as the major
expense. The cost of goods sold section of the income statement shows the flow of the product costs
through the inventory. These product costs are inventoriable product costs because the products are held
in inventory until sold. For external reporting, generally accepted accounting principles (GAAP) require
companies to treat inventoriable product costs as an asset until the product is sold, at which time the costs
are expensed.
Beliay g3y Ladtos Bylanll 6,0l s sl (e Liid) @1 bl s bl 2laddl SIS, a1 agas
RUAESIIN [ SPRINE 1 I JO-A QRVA LT OWPRL] SU.1| PR - B SRIN RSP e P
Slaadl usl€ 2eld) Acladl 361G (s oK, adl sda S50 2asld L8 cieusd) o€, adl e Sl Lle
0935l M5 (o il CaISS 3805 Js ) AalE (e Aol deliadl 265 uid ol Al
L o G O3l Lo oy colomnid) 3Y cppienl] 4416 pue oSG (2 2l oSS
Alall il CadSs Plas of wladll o cdlas lagae Ugall bl ol (Lo« alid) oaull (ol,eY
canlas J] Jsmts oISl ol cdsll el g9zl an ok G wolS psl]

G (093%e) olS  Jxud |« el & Leladl s 2K
G Domas mualy Adlnll ! 44l Lol Azl caslally
) a e U5l Asls alatl LA (3l mad (G
ol CH- GRS 1 Tes)
(Jau!
gl
S Jeniy GgpuneS o tigaed] Al
el (#1/>) il awts | B 24K 2l 5Y1s
Akl Arulall

Merchandising companies’ inventoriable product costs include only the cost to purchase the goods’ plus

freight in--the cost to get the goods in the warehouse.

ss2) Lele 2aail) canylially deladl ¢, & 245 2y leall S, il ($ psieal) 2lall i) 4aKs (aas
SLadll O3l el @ (Jaud! 4akGy « e dd|

The activity in the Inventory account provides the information for the cost of goods sold section of the

income statement, as shown here.
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s (e 92 LS Jo ) dild @ delll Acladl 2815 cual ciloglall g g3ll Glus LLAS cnd

sall Ll O93%e . Beginning inventory Xx
‘3\44 cobiad) e+ Plus: Purchases, net Xx
Js 1l Jadl casylme + | Plus: Freight-in Xx

sAall Lle (93%e . — | Less: Ending inventory Xx

deldl elaJl 2aK5= | Equals: Cost of goods sold | xx

In management accounting, we distinguish inventoriable product costs from period costs. As noted here,

period costs are those operating costs that are expensed in the period in which they are incurred.

Therefore, period costs are the expenses that are not part of inventoriable product cost.

BAall CadISs olé Lia Lasdle ga LSy Biall cadlShy «opsield ALlall midl CadISE cns jaed &yla¥ Awlelly

P Al Sligall 25l CadiSs ol Jllby (Led Llazs @z (Al 8,40l oynd Al Jaad)l Caiss 2
o) Alall mud) IS (e 6 3 o

Product costs C“:‘U IS Period costs 8,all ca IS5
® Partof inventory ® Not part of inventory
® Expensed when sold ® Expensed whenincurred
NEIESUREESE 0935l e s 52 ] @
0935l i B9yimn I Jymis @ Ldeoss o1y Lotie cilbgyne (o @

This is an income statement for a merchandising company.

Ayl 38,40 U5 2esl3 sda

Income Statement

For the year ended December 31,2011

Sladl clalpl sales revenue $$5%
Slagd) Glsgoung ilsgase - | Less: Sales returns and allowance $$

oSl Zeiall el - Sales discounts $$ ($9%)
adlall slawdl clslyl Net sales revenue $$5$
deldl deladl 46155 - - Cost of goods sold:

Bl Jof (9550 4aISs Beginning inventory

elyadl Canylasy alyladl + Purchases and freight- in

el Bl delndl 4SS Cost of goods available for sale

Bl 5T (y95see 48185 - - Ending inventory
deld) Leladl 2aK5 Cost of goods sold ($$$9)
= 2! Gross profit $$9$
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Al &0 Canylall - - Operating expenses $$%
BYeCIPRuRPN| Wage expense $$

Sl Casylas Rent expense $$

plazia casylas Insurance expense $$

IMra¥ cisylas Depreciation expense $$

closliadl casylins Supplies expense $3

Al sdl caslall Jlaz) Total operating expense ($$9)
Gl Js ) Operating Income $$$
(calias) gLl Jso + Other income (expense) $$
NENL| - PS Net income $$

Merchandising companies need to know which products are most profitable. Knowing the unit cost per
product helps managers to set appropriate selling prices.
g 3 ehyall delud puds JS 2aK5 Adpan Oy (A AST colmtill o 6T 28,al &yleall 6,400 7 Lins
Unit cost per item= Total cost of goods sold + Total number of item sold
deldl Slasgll sue + Zeldl lus ol L8K5 Jlea] = sus gl susgll 2215
Exercise1: Gonzales Brush Company sells standard hair brushes. The following information summarizes
Gonzales's operating activities for 2011

ple (e Al adl 48, 400 db 451 AW cleglall (asliy (2 5L&,8) ziie Gonzales Brush 4S, 4 aus

2011
&ylols Lay alas | Selling and administrative expenses 45400%
abiad! | Purchases 62800%
Slagdl sly) | Seles revenue 128500%
2011 (G 08 1 cdeliadl G 955ea Merchandise inventory, January 1,2011 7400%
2011 Jo¥1 095K 31 &eladl (9350 | Merchandise inventory, December 31,2011 6000

Requirements: 1. Prepare an income statement for 2011
2. Gonzales sold 5700 brushes in 2011.Compute the unit cost for one brush.
2011 ale e Joudl 4aild slacl @3 .1 :qgllall
gl e Bus gl Sus gl 4aIS Cews! 2011 ale (3 5LA,E 4700 48,501 ey 2
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Gonzales Brush Company
Income Statement
For the year ended December 31, 2011
Slagdl sl L_;Lm Net sales revenue 128500%
deld!) delad) 45155 - | Cost of goods sold
5Ll Jol (935 | Beginning inventory 7400%
abid! + | Plus: Purchases 62800
sl )51 (935 - | Less: Ending inventory (6000)
deldl 2eladl 4215 | Cost of goods sold 64200
zA L= | Gross profit 64300
adasdl) cas,Lall - | Operating expenses
4ylo¥s Leardl cay)Lall | Selling and administrative expense (45400)
Geaadll Js) | Operating Income 18900%
(casball) gLyl a1 | Other income (expense) -
J>udl dls | Netincome 18900%

Exercise asks us to prepare an income statement for a brush company. Cost of goods sold is determined
by adding together the beginning inventory and purchases and then subtracting ending inventory.
o Sl Ll 935 WaLals Aeld) Aeliadl 815 s iy 4SSl J5 ol 2a3l8 slue] guyeadl b
Sl 5T G935 ool @ ey bl
Cost of goods sold is subtracted from net sales to determine gross profit. Expenses are subtracted from
gross profit to determine netincome.
Jal dezms (0o Sldgpall 71 @iy .yl Joze dydmt) Slagd!) Glo oo Lyl @i Aelll delia 1 24K5
ESURE TR
Cost of goods sold + Units sold= Unit cost of one brush
Buslgdl Bus ol 4alS =deld | Olusgdl sue + Acldl dcliadl 4215
$64,200 + 5,700 units sold =$11.26
To determine the unit cost of a brush sold, cost of goods sold is divided by the units sold. The cost per
brush is $11.26 (rounded)
R Buogll IS Aeldl wlus ol e Aeldl clus ol 285 euuds iy oo gll Aeldl Busoll 4815 yumsd
$11.26
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Exercise2: The following information pertains to Bright Toy Company's operating activities for 2009. The
company sells light box toys and sold 10,000 units in 2009.
a8, 40 adaad da 4% (e AW leglaliBright Toy cucly s colall 45, 401 405.2009 sle e
2009 ale 3 59 10000

abisdl | Purchases $ 126,000
aylals _é.l)ha.c Selling and Administrative Expenses 90,000
sull 4lwy 0 93%e | Merchandise inventory, 1/1/2009 14,000
sull 4Ll¢ (1 95%e | Merchandise inventory, 12/31/2009 10,000
Slagdl wlslyl | Sales Revenue 250,000

What is the cost of goods available for sale for 2009?
§2009 ple 3 geell Aol Al 22K 3l oS
Cost of Goods Available = Beg Inv + Purchases=$ 14,000 + 126,000 = $ 140,000
$140000 =126000 +14000 =L Aal! ks + 8all Byl ¢ 93e LalG =pell Ak Zela ) 24K
What is the cost of goods sold for 2009?
Sheldl deladl 23k 4l oS
CGS=CGA —EI=$ 140,000 - $ 10,000=$ 130,000
130000 =10000 -140000 =8kl ;51 ¢y 93500 LSS — aell A lill Aelia ) 24K =HelLll Aclal Ll
What s the gross profit for 2009?
$2009 ale 3 7l Jozme il oS
Gross profit = Sales Revenue — CGS = $ 250,000 — 130,000=$ 120,000
$120000 =$130000 -250000 =adc Ll delndl 4515 — EJ'” Jeza
What is the operating income for 2009?
S Geaddll Jsodl o oS
Operating Income = Gross profit — Selling & Adm. Expenses=$ 120,000 — 90,000= $ 30,000
$30000 =90000 -120000 :Zt.;)l..s}/\j Leadl ;a'.phal‘ — EJ'” Jazea :gl._djdl\ Jsudi
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Exercise3: Best Company sells office supplies. The following information summarizes Best's operating
activities for 2009:
a8, 4Best 2009 ale (e Adasdl a8, 8l clblis (asl AW Sleglall dusll olpyed) as
Utilities for store $6,000 (355! ‘a‘..\.é;?.m‘ asylas
Rent for store $8,000 ¢332l 5Ll
Sales commissions $4,500 <sladl gos
Purchases of merchandise $54,000 51,Lall deladl o), 4 425
Inventory on December 31, 2009 $20,500 2009 /Js¥! 09s5/31 3 o9l
Inventory on January 1, 2009 $30,000 2009 /QL?J\ 08 /1 Lg 093l
Sales revenue $108,000 cslagdl ly0)

Required: Prepare an income statement for Best Company, a merchandiser, for the year ended December

31, 2009.
2009 Jg¥1 01938 /37 gusyliy dedl Ll e (15 4S,8) 4S54l U5l 28 sluels @8 iagdlall
Best Company
Income Statement
Year Ended December 31,2009
Slagdl o1yl | Sales revenue $108,000

deld! dcladl 4555 - | - Cost of goods sold:

sull &ly 1 93%e | Beginning inventory $30,000
Blall 2elal 4415 + | Purchases of merchandise 54,000
@..,.U 4>l AelaJl 4455 | Cost of goods available for sale 84,000
sl 51 (9350 4alS5 - | - Ending inventory (20500)
deldl 4elnJl 42K | Cost of goods sold (63500)
= Jlex! | Gross profit $ 44500
Ll bl asLall - | - Operating expenses:
plasia¥! (d9,4ms | Utilities expense $ 6000
ol 9,00 | Rentexpense $ 8000
Slagdl Ugae 89,00 | Sales commissions expense $4500 (18500)
Geasdll JsJ1 | Operating income $ 26000
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Classify costs and prepare an income statement and statement of cost of goods manufactured for
a manufacturing company
delivo 4,0 § aiall delindl daildy U5 2asld sluely A& Caplias
Manufacturing companies use labor, equipment, supplies, and facilities to convert raw materials into
finished products. Managers in manufacturing companies must use these resources to create a product
that customers want. They are responsible for generating profits and maintaining positive cash flows.
il 2al sliin J) Ade¥ sloll bgtd cMuadlly @3lslly clinzmall ¢ Joadl Apelivall SIS, AT sukiud
L3 4y ety e z LY ylsll sda lgausig o duelivall SIS AN sl e
In contrast with service and merchandising companies, manufacturing companies have a broad range of
production activities. That requires tracking costs on three kinds of inventory:
A ¥ e ply Jlme Led Buelivall S, 401 (L8 Ll oS, idly Slansedl S8 (o uSall eg
(R 0935l (e ﬁ‘ﬁj ey SIS s cdlaty iy i adl)
1. Materials inventory includes raw materials used in making a product. For example, a baker’s raw
materials include flour, sugar, and eggs.
Ado¥l Ball) old :JLll Joe e il pay Aaceiadl alsdl slall ety g lg :adsdt algdl ¢ g3iee 1
olly Sl ol (e Sl
2. Work in process inventory includes goods that are in the manufacturing process but not yet complete.
Some production activities have transformed the raw materials, but the product is not yet finished or
ready for sale. A baker’s work in process inventory includes dough ready for cooking.
Sllaall paay aay Joiss o LSy Jeaddll s (2 Al debiadl oan Jdddl! coms g L) o950 2
Slesell 2udlly Jia ol e 7 LY aedl da Trale memy o 2l oS3 aladl slgll clss a5 2lia 40
sl el camadl Gesaty
3. Finished goods inventory includes completed goods that have not yet been sold. Finished goods are
the products that the manufacturer sells to a merchandiser (or to other customers), such as a finished
cake.
Sl almndl) (2 Baladl Aebiadl am Law piu o @y 2l pbadl (euns :tmll (.sls Cth 0935 .3
a1 e (o330 ) o) slmll ] gl
Types of costs:
(e blasl
A direct cost is a cost that can be directly traced to a cost object, such as a product. Direct materials and
direct labor are examples of direct costs. A cost object is anything for which managers want a separate

measurement of cost. Managers may want to know the cost of a product or a department, a sales territory,
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or an activity. Costs that cannot be traced directly to a cost object, such as manufacturing overhead, are
indirect costs. In manufacturing companies, product costs include both direct and indirect costs
554U 532 ¥g By ALL slsll il e AGKG goisl Lielol Sy ! alSEl (13,801 oISl
Byaldl e e alial 2
9 cpd of iie 3aKE olidy elyuldl ety 08 AU Jatus (olid elyoll iy s od 61 90 2 poiga
EATAR o Aalaie
Sraldl ae SIS (£05 Al A IS Jie (2 paisl Bydlie Lisla] oS ¥ (1 CadISl
Byaldl g 8 ald) A pean pull a5 e luall oladll 3
Inventorable Product Cost
The completed product in finished goods inventory is an inventoriable product cost.
oozl ALl pull 2485 sa el Aeladl (955 § pll il
The inventoriable product cost includes three components of manufacturing costs:
Acbiall GBI (e ligSe D (uiserl] ALY pudl LIS (aiaws
« Direct materials become a physical part of the finished product. The cost of direct materials (purchase
cost plus freight-in) can be traced directly to the finished product.
laliae el il 2aK5) 5,000 olall 245 Ll gully (Slmall) alll ¢ 5ol muas &1 5,000 olsll @
Pl gl U ps s ala Sy Lasds ooy (U1l ol 25665 L]
* Direct labor is the labor of employees who convert materials into the company’s products. The cost of
direct labor can be traced directly to the finished products.
oSios A Loall A5 S, a0 clatia ) 31l Galym il oadligll e 3o - aLA1 Janll @
A1 il L s tlon S Lasis
* Manufacturing overhead includes all manufacturing costs other than direct materials and direct labor.
These costs are created by all of the supporting production activities, including storing materials, setting
up machines, and cleaning the work areas.
sdca Lady 8, aldl 5eo%g 5, alll slg Ll Cadlsey Lcliall (IS S anaws AdlaYl G IS o
Joall Aalate Caglaig (¥ slael olell epias ean G Sulall z iy dlasil e Ca ISl
Manufacturing overhead includes only those indirect costs that are related to the manufacturing
operation. Insurance and depreciation on the manufacturing plant’s building and equipment are indirect
manufacturing costs, so they are part of manufacturing overhead.
comelall e bl Al 2l clidaally glas AN B, sldl jae oIS laaé 8L caslall fevass
Aseliall LS a e 5 g JLolls (B dlis st Relim CAulLSS 2 Uluinas el Slis Dlzaly
Al

- £
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In contrast, depreciation on delivery trucks is not part of manufacturing overhead. Instead, depreciation
on delivery trucks is a cost of moving the product to the customer. Its cost is delivery expense (a period
cost), not an inventoriable product cost. Similarly, the cost of auto insurance for the sales force vehicles is
a marketing expense (a period cost), not manufacturing overhead.
Ial HL8 U3 ¢re Yoo 2LSY oIS oy oo uad onll Sl cPal Gl wells o pagaill e
ke 485 ity (3548 1aK5) Jivosd B gpian 2ol sia wad Osall ) mill Jas AakG 2 a5edl oilyliw
A5 sl (38 A4S gl B3pimn (B purl] osed Sl e Onalall R3S Lok UK opal] L3
EWATRE WD
Manufacturing overhead includes indirect materials and indirect labor. The spices used in cakes become
physical parts of the finished product. But these costs are minor compared with flour and sugar for the
cake. Since those low-priced materials’ costs cannot conveniently be traced to a particular cake or DVD,
these costs are called indirect materials and become part of manufacturing overhead.
LSl Aebigay Aoasradl blsall AL e Jaadly 3,210 e sl 2L ducliall o JISH (aiass
AW a1 ,Sdly bty &ylae J8Y1 (2 oIS sda ST LA giiall 2obe i patu
Like indirect materials, indirect labor is difficult to trace to specific products so it is part of manufacturing
overhead. Examples include the pay of forklift operators, janitors, and plant managers.
Leeluall CaJSHI (o ¢ 52 od I suzme il addtl) Zao Ll 5,800 e 592 (16 5,80 sz slsll i
aisall elhas ¢ elpmdl (2S5 Al 2asldl Jaad a8l Aoyl (resars 28LSY)
Other manufacturing overhead costs are all related to the manufacturing plant and its assets. Typical
costs include repairs and maintenance, utilities, rent, insurance, property taxes, and depreciation
Dy Llall Az dgaidl AU aiats Alginly pially 3lans LIS 6,53 deluall 4,8L5Y1 (oIS
lia¥y LS Cils ol Gl calasxid Caslas

Income Statement For the year ended December 31,2011
adlall lagdl eilslyl | Netsales revenue $$%%
delll deladl 45155 - | - Cost of goods sold:
bl Jof 4l deliadl (955 4255 | Beginning finished goods inventory $$
daiall 4ela Jl 4G5 + | Plus: Cost of goods manufactured $$%%
el @ Lkl aclaJl 23155 | Cost of goods available for sale $$%9
Bull a1 &l deladl (9350 4SS - | - Ending finished goods inventory ($9%)
deld) aelinJl 22155 | Cost of goods sold ($9%9)
=l Jle>! | Gross profit $$%
LyloYy adl casliall - | - Selling and administrative expense ($$9)
sl J>ul | Operating Income $$9$
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The income statement of a manufacturer is similar to that of a merchandiser, but with some important
differences. Notice that the Cost of goods sold is computed using the finished goods inventory. Since
manufacturers have three types of inventory, itis important to indicate which one. Also, instead of adding
purchases, Cost of goods manufactured is added to the beginning finished goods inventory. This amount
is separately computed.
Loy Al ]l oY) jaa ae oS3 cdleadl 48,400 (o ud) daslal dplin ducliuall 45,50 Jsodl 2als
Llal e Lead decliall 3LalI &1 Wb Zalddl elad) ¢35 pladeiuly codzet 2eldl deladl 2415 ¢
Laiall Aeladl 445 G168 culyiad) 28Ls) cre Yooy il LUy Slass (of dpues @bl (b (955l (o
it IS dluds! @iy slaall 1 sl Jof puadl Ll dcbiadl (95350 Jl Lrélis| o5

Comparison of product and period costs:

Type of company Inventoriable product costs Period costs (Expenses)
as,ad! g9 u...).z?.l.l aLLal @.LU aJss saall adIss
Service company None Salaries, depreciation, utilities, advertising, insurance,

property taxes

EOPWES [ TY0A | > Y iy lme S 8l ol clSiaY (sl gl
LY
Merchandising company Purchases plus freight in Salaries, depreciation, utilities, advertising, insurance,

property taxes, and delivery expense

ol Canylias &SI Cols

Manufacturing company Direct materials, Direct labor|Office salaries, depreciation, utilities, advertising,

and manufacturing overhead  |insurance, property taxes on office, selling expenses

ZL‘/‘_CLHA_“ K)—Z&J‘ 45‘)_:0\.51‘ )‘9_?-%/\ ‘E)_ﬁdl.fl‘ J“s_l‘ ‘OM_C-}/\ c‘é‘u\mm ‘—éi)\-@-‘“ cQSmM ca-_hﬁsl‘ L'u.‘j‘).”

ALALAY! Bucliall Cavliall faedl Ciylas caSU e 2SI Clying (el

This table compares product costs, which are part of inventory, to period costs by company type.
AN 58 cnmy BAM a5 po asll o e Dl (Gl (i) eSS Jsmd e 031
Since service companies do not produce or sell products, they have no product costs.
i IS L i g8 bl aus Wy il ¥ Ao Sl G UL
Merchandising companies purchase their inventory and have similar expenses as a service company,
with the addition of delivery of the inventory.
0955l Jamst! BLSYL Aeasd) 48,401 culaad Apline ulaas clliady Legiiee GALS Lyledll S, 4!
Manufacturing companies are the most complex. They have three product costs, plus period costs. Note

that the period costs are all related to selling and administrative type of expenses
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el CadlSs HU Loy el CaJiss L) Blae (M mine calSs Leod Joaas 4SY o duclinll oS, 40
G &
AlaYs e dl wlaadl laasy LIS slass

Purchases of materials

Direct labor &

Manufacturing overhead

J\}.c Q‘,gﬂ:«-n

Sptlan spa]
4dls) u’-_u\-ﬁa-ﬂ +
Uoza

This diagram shows how the product costs turn into period costs when they are sold.

—>

Balance Sheet

Materials Inventory

!

Work in process

Inventory

v

Finished goods

Inventory

Aeliztl asliwdl

lge (19350

Sl z L] 955
‘_ . oa ~]‘

pl z ] (955ee

3amis Ladie

Income statement

Sales

- Cost of Goods sold

- Operating Expenses

= Operating Income

> o) 4l58

Leladl 24 -
aeld

_a_pl_pll -
Al

(58 44153)
Gl Jsudl

A manufacturing

company purchases materials. By adding labor and overhead, the goods go from “in process” to finished

products. When the goods are sold, Cost of goods sold is recorded on the income statement.
Slell Aeliall 48, 4l giad aleul) ¢ Lo ladie 548 IS J) mill IS Jemes (oS alasll , la)
Lelll 2eliadl Jad el il J) (Jedadll cams) o piliadl Jsmis (28l CaliSally Joall 430l

RESUERTS
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Manufacturing Cost Schedule

Any Manufactured company

For the year ended December 31, 2011

Aacseradl 85,8000 slsll

Direct materials used

Bull Jof 8Ll ads™ slell ¢y 935ee Beginning direct materials inventory $$
Bydilea Adel 3lga lijide + Plus: Direct materials purchased $$
NRES I PSRN ININT Direct materials available to use $$9
Bull ,5T 8, L) Ade¥ algll ¢y g5ses - Less: Ending direct materials inventory ($9)
Louseradl 8,400 ¥ a5l | Direct materials used $$$
8,aLLl ,42%1 + | + Direct labor $$
aslaY! Lelivall e JIKIN + | + Manufacturing overhead $$
Ll P> L] @5 gl Alloa¥) 2ucliall 2SI | Total Manufacturing costs incurred during the year $$$
Ball Joi Jusddll s z L) (9354 | Beginning work in process inventory $$
Ball 51 Juaddl s 7L} (9354 - | Less: Ending work in process inventory ($$)
daiall eladl 23155 | Cost of goods manufactured $%%
8all Jof a5 z | (935 + | +Beginning finished goods inventory $$
Ball ;51 b5 7| 935 - | Less: Ending finished goods inventory ($%)
deldly 2eldl 2eln I 42155 | Cost of goods sold $$%

https://manara.edu.sy/



https://manara.edu.sy/

deola
6)Lial
The income statement line item “Cost of Goods Manufactured” is a separate schedule. It begins with the
goods in process at the beginning of the period. The three product costs are added: materials, labor, and
overhead. The ending work in process is subtracted to determine the cost of goods manufactured.
a1 Jgl Jusadll s z Yl Tos Alitue 2aild ga Joudl Aails 3 "Aaigall Aeladl 265" wiy slaw &)
saall y5T Jusad o z oY) b @iy @3 (28LSY! caslall cdaall colsl A @il oSS Calas @
Aanall deladl 25 wyasl

Direct materials used
Beginning Work in Process Ending Work in Process

(+ Direct labor

Total
manufacturing

+ Manufacturing overhead

Cost of goods manufactured

This is a simplified visual of the cost of goods manufactured computation. Simply stated, add beginning

work in process to the three product costs. Then, subtract ending work in process.

G Jeaddl s zlul (95500 AT A8LsL sunu=y oy Aaivall Acladl AalE CludsY buis jigiai i
Baall ol Jadd) cos 7 i) 805 7)b @F A pul) IS ) sAa0 Al

Flow of Costs through a Manufacturer's Inventory Account:

tuelin 35,4 § ogyll ablus SO KU 30

Direct materials inventory Work in process inventory Finished goods inventory
Beginning inventory Beginning inventory Beginning invent0|y
+ Purchases and freight-in K‘L Direct materials used an Cost of goods manufactured
= Direct materials available for use + Direct labor = Cost of goods available for sale

+ Manuf. overhead

- Ending inventory - Ending inventory - Ending inventory

= Direct materials used = Cost of goods manufactured = Cost of goods sold
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‘:Li.” CL‘L»:.{\ 0935

WA P GLU}’\ O93%e

ado¥ slgll & 955me

sl in (-sL? CLL! 0950 LG

Bl Jof Jeaddll s LYl (95500 AaISS

s a0l UM (Aaall) Zelill deladl 25 + €—

Lol 3,800 Slsl! <+

sudl in lﬂ_‘ji J‘).A O935e EHN

peeld il el ) IS =

5yALAI g2 +

slyadl Canlmag wliadl) +

Bl 5T ol z i) ¢ 935e Al -

LY calall +

bl 2Ll 5,000 slll 445 =

2oLl 2oldl Aela ) 26k =

aladl U3l sl 40801 e Loall Lo IS

Sl 3T adsl slge ¢r95e Ak -

Bl 5T Jea &l s 2 L) (950 25 -

Laasall 5,400 slell 43S

(tanall) Zoldll Zelall 2l

This table shows the flow of costs through the three inventory accounts. You can see how the “bottom

line” of one schedule flows to the next. Also notice each schedule starts with beginning inventory, has

items added, and then ending inventory is subtracted.
Jods UG ¥ bl of (oS 655 of eliSlas 2 ¢ 955ll ablus M a8 3805 Jgusell da plad
sy I3 Lang (Blas agy Led Bl Alay 0 955ay Joar JS Tung oS Lo L Joud! J) 380y

Compute cost of goods manufactured.

Ball 5T (i g5see

Exercise 1: Max Fli Golf Company had the following inventory data for the year ended December 31,2010
2010 «Jg¥1 0938 37 gyl Apradl Al (e A1 o955kl bl AS,8 clligs

dadieiwd bydlie dlga | Direct materials used $15000
Lelinll 3,80L5Y ;é_l)hall Manufacturing overhead 18000
Jeaddl cms L) O 93%e | Work in process inventory:
sull ayluy Beginning 6000
sull Ll Ending 3000
&Ll Jeadl | Direct Labor 7000
pldl z ¥l G935 | Finished goods inventory 11000
Requirement: Compute Max- Fli's cost of goods manufactured for 2010.
sl Jol sl cms zW| 0935 | Beginning Work in process inventory $6000
Leaziudl 5,404 slsll + | Add: Direct materials used 15000
&Ll Jeadl | Direct labor 7000
byl e lipall 2 JKI | Manufacturing overhead 18000
pladl s daaill dyuelivall & &l Jle>| | Total manufacturing costs incurred during the year 40000
Lee dwlell @5 @) e liall IS Jle>] | Total manufacturing costs to account for 46000
sudl 5T L st cums zlwl 0935 - | Less: Ending Work in process inventory (3000)
Lasall delal 245 | Cost of goods manufactured $43000
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Exercise 2: Redbird Company reports the following data for 2009:

Cost of goods manufactured $69,500 Direct labor incurred 25,000

Direct materials used 27,000 Work in process inventory, Jan. 1, 2009 11,000

Manufacturing overhead is 75% of the cost of direct labor. What is work in process inventory on Dec. 31,2009?
Lodsiad) 3y &Ll sl ($69500 daiall delindl 245 :2009 ple (e S, all gas) wlily G Legd
$11000 20093l 05318/ Jusddll s 1) ¢y 535e0 :$25000 e gball 4 aLA1 Jaadl 2215 .$27000
SBal) ja T Juaddl) coes oY 28G5 (2 Lo bl Jeadl 265 (10 %75 AT 8L A liall Ca IS

Direct materials used 27000

+ Direct labor 25000

+ Manufacturing overhead (25000x75%) 18750

Total manufacturing costs incurred during the year 70750

+ Beginning work in process inventory 11000

Total manufacturing costs to account for 81750

- Ending work in process inventory (??)

Cost of goods manufactured 69500

Exercise 3: Village Company's selected cost data for 2009 are shown below:

Cost of goods manufactured $145,200 | Work in process inventory, Jan. 1, 2009 18,500
Direct materials used 15,800 Work in process inventory, Dec. 31, 2009 22,500

Assuming direct labor is 60% of manufacturing overhead, what is the amount of direct labor ?

i 7 L] G 935ee 48155 $145200 aivall Aeldl dcla ) 4185:2009 ale (e S€,AT gus] bl b Ly

Lozl slgll 4alS5 $22500 sull , 5T Jurddll coms 7z L) o 93see 2485 ($18500 sull Jol Juadidl)
§ ALl Jeadl 2685 2 L AbLaY) Bucliuall CaJISH o0 %60 4Ll Jeadl 225 Jids 15800

Direct materials used 15800
+ Direct labor ?
2133400
+ Manufacturing overhead
Total manufacturing costs incurred during the year 149200
+ Beginning work in process inventory 18500
Total manufacturing costs to account for 167700
- Ending work in process inventory (22500)
Cost of goods manufactured 145200
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Exercise 4: Harrison Company reports the following cost information for August:

Inventory Beginning Ending
Work in process 22,500 18,500
Finished goods 30,200 35,300

Direct materials used 25,300 Cost of goods manufactured $135,800

Direct labor incurred in August amounted to 150% of manufacturing overhead in August.

What is the amount of direct labor incurred by Harrison

Company in August?

252 a5 3L 0 Ao livall 8Ll casliall AaKGE (e %150 Gl i (B 3Ll e 2d 44l 4 ls

Tl by Lboms o3 &1 3,50

Direct materials used

25300

+ Direct labor

+Manufacturing overhead

106500

Total manufacturing costs incurred during the year

131800

+ Beginning work in process inventory

22,500

Total manufacturing costs to account for

154300

- Ending work in process inventory

(18,500)

Cost of goods manufactured

135,800

+ Beginning finished good inventory

30,200

Cost of goods available for use

166000

- Ending finished goods Inventory

(35,300)

Cost of goods sold

130700

Exercise 5: The following information was obtained from Sizzler Company:

$150,000 | DirectLabor $25,000 Advertising costs

$110,000 | Direct materials $40,000 Indirect materials

$23,000 Factory utilities $40,000 Administrative wages and salaries
$14,000 Factory supplies $16,000 Manufacturing equipment depreciation
$30,000 Indirect labor $5,000 Delivery vehicle depreciation

$30,000 Salesmen wages $17,000 Factory Insurance

How much was Sizzler’s factory overhead?

A. $100,000 B. $400,000 C. $140,000 D. $250,000
How much were Sizzler’s Direct costs?
A. $400000 B. $250,000 C. $140,000 D. $260,000
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How much were Sizzler’s product costs?

A. $400000 B. $250,000 C. $140,000 D. $100,000
How much were Sizzler's Period costs?
A. $200,000 B. $100,000 C.$120,500 D. $350,000

Exercise 6: X Company's beginning

November 1 November 30
Direct materials $25000 $20000
Work in process 100000 130000
Finished goods 40000 30000

Production data month of November:

and ending inventories for the month of November are:

200000

Direct labor

165000

Direct materials purchased

130000

Factory overhead

What's X Company’s Direct Material used for November?

A.160000

B. 170000

C. 165000

D. another amount

What's X Company's Direct cost for November?

A. 495000

B. 360000

C. 370000

D. another amount

What's X Company’s Conversion cost

for November?

A. 330000

B. 495000

C. 365000

D. another amount

What's X Company’s total manufacturing cost for November?

A. 365000

B. 330000

C. 495000

D. another amount

What's X Company’s cost of goods manufactured for November?

A. 530000

B. 470000

C. 480000

D. another amount

What's X Company'’s cost of goods sold for November?

~J

A. 480000

B. 470000

C. 510000

D. another amount
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Exercise 7: Fitness Company reports the following data for 2018, its first year of operations:

115,000 Direct materials used

160,000 Manufacturing overhead incurred
130,000 Work in process inventory, Dec. 31,2018
75,000 Finished goods inventory, Dec. 31,2018

$440,000 Cost of goods manufactured

What are the cost of goods sold?

A. $365,000 B. $190,000 C. $160,000 D. $570,000
What are the total manufacturing costs to be accounted for?

A. $300,000 B. $190,000 C. $160,000 D. $570,000
Calculate direct labor?

A. $275,000 B. $295,000 C. $160,000 D. $570,000
At first year of operations the beginning balance of inventory equal zero

Direct materials used 115,000

+ direct labor ?

+ Manufacturing overhead costs 160,000

Total manufacturing cost ?

+ beginning Work in process inventory 0

- ending Work in process inventory (130,000)

Cost of goods manufactured 440,000

+ beginning Finished goods inventory 0

- ending Finished goods inventory (75,000)

Cost of goods sold 365,000
Exercise 8: Butler Co's production costs for July are

Direct Materials $120000 Direct Labor ~ 108000 | Factory overhead 60000

What is the amount of prime costs?

A. 288000 l B. 228000 ‘ C. 120000 ‘ D. 108000
Prime cost= Direct materials+ Direct labor=120000+ 108000= 228000
What is the amount of conversion costs?

A. 288000 ‘ B. 228000 ‘ C.120000 ’ D. 168000
Conversion cost= Direct labor+ Factory overhead= 108000+ 60000= 168000
What is the amount of total manufacturing costs?

A. 288000 ‘ B. 288000 ‘ C. 120000 ‘ D. 168000

Total manufacturing cost= 120000+ 108000+60000= 288000
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Exercise 9: If the beginning balance for May of the materials inventory account was $27500, the ending

balance for May is $28750, and $128900 of materials were used during the month, the materials purchased

during the month cost

A. 127650 B. 157650 C.130150 D. 101400
Direct materials purchased ?

+beginning materials inventory 27,500

-ending materials inventory (28,750)

Direct materials used 128,900

Exercise 10: Alex Company had following inventories at the beginning and end of the January:

January 1 January 31
Direct materials 134000 124000
Work in process 235000 251000
Finished goods $125000 $117000
The following additional manufacturing data were available for the month of January:
Direct materials purchased $189000 J Direct labor 300000
Purchase returns and allowances 1000 | Factory overhead 180000
Transportation- In 3000

Alex Company's direct materials used for January was

A. 489000 B. 501000 C. 201000 D. 199000

Net direct materials purchased189000+3000-1000= 191000
Direct materials used= 191000+ 134000-124000= 201000
Alex Company's prime cost for January was

A. 489000 | B. 501000 ‘ C.201000 ‘ D. 199000

Prime cost=201000+ 300000= 501000

Alex Company's conversion cost for January was

A. 480000 | B. 501000 ‘ C.201000 ‘ D. 180000

Conversion cost= direct labor+ factory overhead= 300000+ 180000= 480000
Alex Company's total manufacturing cost for January was

A. 681000 ‘ B. 673000 ‘ C. 665000 ’ D. 489000

Total manufacturing cost= prime cost+ factory overhead=501000+ 180000= 681000
Or conversion cost+ direct materials used= 480000+ 201000= 681000

Alex Company's cost of goods manufactured for January was:

‘ A. 673000 ‘ B. 665000 ‘ C. 657000 ‘ D. 681000 ‘

Alex Company's cost of goods sold for January was:

‘ A. 681000 ‘ B.657000 ‘ C. 697000 ‘ D. 673000 ‘
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Use the appropriate letter(s) to indicate if the following items would be found on the income statement of a:
(@ J AsE § ua g w8 2l s9idl ol JI 8,La bkl el PES S

A. service company. i3 45,4
B. merchandising company. &,l=5 45,4
C. manufacturing company. 4cliys 45,4
You may use more than one letter for each answer. cilg> JS3 aslg 8y o AST ausiud o Sy

Revenue sl oY1

Salaries expense sl 9, _89,m0

Customer service expense ¢Maall daus 89 yynn

Cost of goods manufactured daiall deladl 235

Cost of goods sold dcld| dcladl 425
Answer:
__AB,C__Revenue
__AB,C__Salaries expense
__AB,C__Customer service expense
__C__ Costofgoods manufactured
__B,C__ Costofgoodssold
On the line in front of each statement, enter the letter corresponding to the term that best fits that
statement. You may use a letter more than once and some letters may not be used at all.
Ol oSy Byl s Juadl (S by ddly mllayaall Cowlid) iyl sl celalel gl Jlaudl (3

Tl pasrad ¥ 08 @1 Cagpml (aay cllia LISy cdy> (o ST puieiud

A. Materials inventory slgll (9350
B. Service companies dous &S, 4
C. Merchandise inventory &,l=s 45,40 (9550
D. Finished goods inventory a5 4cliay (9550
E. Work in process inventory Juaddll e Ll (9550
F. Manufacturing companies dclio &€,4
G. Merchandise companies 4,l=35 &€, 4%
____Typically have a single category of inventory (y955ll (po g 48 cllas L:.>.>3.o.»
____Resell products they previously purchased ready-made from suppliers
o253l Ui (5n cnam Spalr Laslyd e @l lniia g hgad
__ Do nothave inventory ¢yg55a s ¥

Produce their own inventory Lol L9350 &uaj
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Transform raw materials into new finished products uuu> 465 cilztis ) Ads¥ slsll Jams
Manufacturers’ inventory that is ready to be sold aull jalxlly (sluall (952l

Manufacturers’ inventory of partially completed items s LALS] @5 (sl 93500 390

Answer:

__G__Typically have a single category of inventory

__G__Resell products they previously purchased ready-made from suppliers

__B__Do not have inventory

__F__Produce their own inventory

__F__Transform raw materials into new finished products

__D__Ready to sell inventory of manufacturers

__E_Partially completed items

Exercise11: Given the following information, determine the cost of goods manufactured and the cost of

goods sold for 2009.

Direct labor incurred $126,000 | Finished goods inventory, 1/1/2009 395,000
Manufacturing overhead 359,000 | Finished goods inventory, 12/31/2009 442,000
Direct materials used 1,000 Work in process inventory, 1/1/2009 193,000

Work in process inventory, 12/31/2009 218,000

Direct materials used 1000

+ Direct labor 126000

+ Manufacturing overhead 359000

Total manufacturing costs incurred during the year 486000
+ Beginning work in process inventory 193000

Total manufacturing costs to account for 679000
- Ending work in process inventory (218000)

Cost of goods manufactured 461000
+ Beginning finished good inventory 395000

Cost of goods available for use 856000
- Ending finished goods Inventory (442000)

Cost of goods sold 414000
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Exercise12: Given the following information, calculate the direct materials purchased in 2009.

Inventory Beginning Ending
Materials $43,000 24,000
Work in process 53,000 61,000
Finished goods 84,000 97,000
Cost of goods sold 395,000 | Directlabor 156,000
Cost of goods manufactured 408,000 | Manufacturing overhead costs 180,000
Beginning direct materials inventory 43000
+ Purchases and fright in ?? 61000
= Direct materials available for use 104000
- Ending direct materials inventory (24000)
= Direct materials used 80000
+ Direct labor 156000
+ Manufacturing overhead 180000
Total manufacturing costs incurred during the year 416000
+ Beginning work in process inventory 53000
Total manufacturing costs to account for 469000
- Ending work in process inventory (61000)
Cost of goods manufactured 408000
+ Beginning finished good inventory 84000
Cost of goods available for use 492000
- Ending finished goods Inventory (97000)
Cost of goods sold 395000
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Exercise13: Robinson Company has provided the following information:
* Raw materials inventory increased $15,000.
* Work in process inventory decreased $29,000.
« Finished goods inventory decreased $47,000.
« Sales were $500,000.
* The gross profit ratio was 52.2%.

How much was Robinson’s cost of goods manufactured?

Sales Revenue 500000
- Cost of sold goods (239000)
Gross Profit 52.2% 261000
Total manufacturing costs incurred during the year 163000
+ Beginning work in process inventor X

5§ : ; 4 29000
- Ending work in process inventory (x- 29000)
Cost of goods manufactured 192000
+ Beginning finished good inventor Y

: : 5 ) 47000
- Ending finished goods Inventory (Y-47000)
Cost of goods sold 239000
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Exercise14:The following information is available for the Petree Corporation for 2009:
* Materials inventory decreased $4,000 during 2009.
* Materials inventory on December 31, 2009, was 50% of materials inventory on January 1, 2009.
* Beginning work in process inventory was $145,000.
« Ending finished goods inventory was $65,000.
« Purchases of direct materials were $150,000.
* Direct materials used were 2.5 times the cost of direct labor.
* Manufacturing overhead was 50% of the cost of direct labor.
* Total manufacturing costs incurred during the period were $246,400; they were 80% of cost of goods
manufactured and $156,000 less than cost of goods sold.
Compute:
a) finished goods inventory on January 1,2009  b) work in process inventory on December 31, 2009
c) direct labor incurred d) manufacturing overhead incurred
e) direct materials used f) materials inventory on January 1, 2009
g) materials inventory on December 31, 2009

Note to students: The solutions to this problem are not necessarily calculated in alphabetical order.

Purchases and frightin 154000

Beginning direct materials inventory X 4000

- Ending direct materials inventory (X-4000)

= Direct materials used

+ Direct labor 61600

+ Manufacturing overhead 30800

Total manufacturing costs incurred during the year 246400
+ Beginning work in process inventory 145000

Total manufacturing costs to account for 391400
- Ending work in process inventory (83400)

Cost of goods manufactured 308000
+ Beginning finished good inventory 159400

Cost of goods available for use 467400
- Ending finished goods Inventory (65000)

Cost of goods sold 402400
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